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Rovo said, providing that they all testified within a kday dibur

OVERVIEW
The mawn stated that (in regards to various cases) a hundred witnesses are like two
witnesses. X217 qualified this ruling that it applies only if all the (hundred) o 7v
testified 712>7 72 710 (one after the other). Otherwise we do not say n2 fiXn. There
1s a dispute between *"w7 and n©oIN regarding which cases did %37 make this
qualification.

- DY ANNT PPNINN NINANRP XN *[N7a]
“''w9 explained that X2 is saying; and only in this case (where 7"5\0 17°¥77 0210)

does the mw» rule that a hundred 2°7v are like two 27V -
- 924 Y5% D1y IN9 YNV 10 290 OYINNN TIYN DT RN D2IYN 1TV ON YaN

However, if the two 0°7v testified alone and after a while the other 0>7Y testified
(it was not 7"21n), they are then considered like two separate sets of 2°7¥ in
regards to everything; this concludes >"wAs.

Nv0IN comments:
- 9999 IN M99 )’J”b IN INPT YIVN

It seems (from the words of >"wA that 127 532 2°7v °n> °nw 37 °77") that X217 is also

referencing the case of 195 WX 21, that we only say 7702 M7V if 9109 18 217p 77 'K K¥A),
if all the o7y testified 7"2n; otherwise even if some are 07109, nevertheless since they did not
testify 7"210 we say TRwa M7y o pnn.

nooIn asks:
= 91257 %715 TINA ARTYNA MHVN 1IN DIV IN 219PT 127 12I¥DT TNV ¥IYWN NNT YD)

And there is a difficulty with >"w79, for shortly in the X711 it seems that
regarding the rule of ®1©5 WX 217p 177 'K X¥M1 that 7502 1017V, it is not dependent

whetherBthe testimony was 7''2n -
= D8 X990 9INPT 99257 2715 TIN NN 1TIYN 29 4N JNTY NI NYYN 5N NIN

But rather their testimony is completed by seeing the deed, and if one was a
7109, the M7V is invalid even if they testified after a 7"21n, for the X3 asks, ‘the

victim should save’ the murderer from being killed, since he also saw the act of murder
together with the other 0°7v, and he certainly is M7 5109,* so the rule of 109 77 'R X¥71 should

' 1127 >75 (enough to speak) is the time it takes to say (1) 21 THY 29w,
xim A",
* From the s'Xm3 question that 9°%* 21777 (that he should be considered an 2109 7v) and therefore be Svan the entire
M7y, proves that regarding 7202 1MTY 2100 X 2P 7 'R K¥P, it is totally irrelevant when they testified (because
obviously the 21777 did not testify at all), but rather what is relevant is whether the 7109 saw the crime (which the 217
did see) together with the 2w> >7v, and that is what invalidates the m7v. It has nothing to do with testifying 7">n.
* A person cannot testify on his own behalf. See following X7x 7"7 '01n.
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apply to the 21777 as well.

moon offers his interpretation:
= 0919 1INV 1Y MNINPT PNRNN DITYT PN P INP NDT NN 799

Therefore it appears that X27 is not referencing the case of X 2179 171 'K X¥»2
700 (for there it is always 7202 M7y, even if the testimony was 7"21n I1XY), but
rather X271 was only referencing the case of 1PanIt 257w, where ¥"1 ruled that they

do not have the law of 1"V, unless all of the 0°7v were 23177 -
= M7 593 TN 095 y19yn 5 NPT MNP KRNI

And regarding this rule of v"2 specifically, X271 stated that it is only if they all

testified 7''2In that we require 0912 PW 7V -
= 9919 1MV 1Y 1°¥2) TN MTY N NMT

Because then it is considered one testimony (since they testified 7"21n) and we

require that 3912 1%319% in order to enact the rule of 1"y -
= 99259 Y1 9NN INYPNI 9T 213 PINA INNPN YYD VAN

However if some testified 7''>n and others testified 7''s NN -
= 09 VY Ty )y»ya N9 7IN5 'nY "N )2 ON

Then they are considered as two sets of 27V and there is no requirement 7y

2912 115 we only require that there be 717 by all who testified 7"2n. This is regarding 1"y -
= 9109 IN 2)9P TN N8I PvY Yan

However regarding the rule of 915 IR 2997 71K RX%1, then -
= YV IVTY 22T 27 ANNY IYIY 211D N8I ON 9N

Even if the 05 was found among those who testified 7''>8, nevertheless the
entire M7Y is nullified (as proven previously from 2°%> 2177).

In summation; regarding the rule of 1213 YW ¥ 131m1 22797 PR, the rule of X237 applies that this
rule is valid only if they all testified 7"21n, otherwise we only require a nni7 for those that
testified 7"21n. However regarding the rule of 9105 1% 219p 171 'R X¥ny, that is effective in all cases
even if they did not testify 7">1n.

mooIn asks: ]
= "NIV NI 99NN ON)

And if you will say; why is there a difference between 1"y (where the rule of Xa1
applies) and 2105 171 'R R¥11 (where the qualification of X271 does not apply)?

N1B0IN answers:
- 5109 IN 3197 191 THN RSN 33 NPITT NIWI XY )5 Y9

And one can say; that the two cases are indeed completely different, for only by

the case of 105 IR 217p 177 'R R¥M3 -
= NN DYIN ONY DIYN 25T 993 INNRD IPYIYI MTY TN 2PUN

> Granted that 900 has proven from the X723 (of *¥* 3117) that the rule of 7"21n does not apply to W 277 1A% 'K Xy

9109, nevertheless we require a reason for this distinction.
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Is it considered like one M7y even if they testified 7''s%, because the 277y are

saying the truth -
- ‘Do1yn DY HNN N33 NN DNYY NN DAY NNRIN YPHNH INTY 12 ON)

So therefore (since they are testifying truthfully) their testimony begins from
when they saw the deed, and the seeing of the 7105 was simultaneous with the

other @W>a @Y7Y, so if 7710 7702 7¥pPn 77032 -
= NN DIIIN JPINY PR 0Y7y¥a YaN

However by "'y who are not saying the truth; they have been discredited -
- 197 $°22 ¥V KON JMTY Na XY 19 ON

Therefore their testimony does not begin until they testify in 7''s2 -
T UnY AN 19 1Y 1N 1%AWN KD 937 275 INNRY P9 HNNX NI YYD NDT 1199)

And since they did not testify in 7"°2 simultaneously (7"21n), but rather 7''>%,
we cannot consider it as one m7y. This is how it appears to my teacher, may
he live.

SUMMARY

According to *"w1 the qualification of X237 (that the testimony need be 7"21n),
applies to the cases of 1713 1w 7¥ and 109 X 2177 177 'R X¥n1. According to Moon
however it applies only to 1" (since their [false] testimony is initiated in 7"*2), but

not by 91091 2P 1 'R R¥A1 (since their [true] testimony begins when seeing the
deed).

THINKING IT OVER

What would be the ruling according to n1doIn, if at the time of seeing the deed all
the 0>7v were 0 W2; however, later when they testified in 7"°2 some became 2°7109
m7yY; is there a requirement that the 199109 testify 7'910 in order to void the m7v,?
or is it voided even if the 2°9109 testified 7"> nx>?’

% See “Thinking it over’.
"W mb. See b T that this is referring to ¥ 11727 (‘o).
¥ Since at the time of N7y71 X" there were no 2°2109 (only 2 w3); they became 0°2109 later before they testified.
? See TN *wIon XN # 107-8.
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